sE2HE=SEW

20249 043 159 ~ 20244 0438 21¢

042 152 (8) 042 162 (&) 048 172 (2) 048 182 (=) 048 192 (2)
SAl019: 983 SAl019: 983 SAl019: 983 SAl019: 983 SAl019: 983
Z2eH z3e - TOIHZHAIZI0IA | - & e & e
BIIE(5.6.8.17.18) | - BIESR(5.6.16) |(1.2.5.6.12.16) £E%2(5.6) =R
|- N2XRE(5.6.18) |- 2LBF(5.6.14) |- ARXZEHOERLEO |- HSRS(5.6.10.13) |(1.5.6.16.18)
= |- MaAE 012 - SHARS(5.6.18) [2(1.5.6.17) - ATk24 201 (13) CEROMARS
7 [(1.2.5.6.10.12.15.16) | - 418t (9) B2 %1 (9) EEIPE) (5.6.17)
- B2 RI(9) - B (13) CAH R2IY 2¥FI) - 2 X 0124 701 (10)
S AHOI2AA (1.2.6) C B2 RI(9)
(1.2.5.6.12.13.16) we - QR
AZY (AQY) AZY (AQY) AZEY (AQY) AZEY (AQY) AZEY (ARY)
[&3eH1] [&3eH1] [IOIOHEHAl2HOI A ] [E3E1] [E3E1]
sz (2sdst) sz (2sdst) ZXH/ 2 EHA (2 lsdaa(2s2st) llsdaa(2s2st)
(10.00kg) (10.00kg) (33.00kg) (10.00kg) (10.00kg)
JNZH(EINF)/E&Z (1.00kg) [IIZ(EIIH)/Z&E (1.00kg) [JIsdH(2s528H JIF(ZI1E)/E &3 (1.00kg) |2IZ(EI1F)/&&& (1.00kg)
QAH(UD])/2 &S (49.00kg) |H(EH0])/&IEZ (49.00kg) |(10.00kg) A (uH0])/RI2HE (49.00kg) |HA(EHD])/EEE (49.00kg)
Sel(22el)/&2Z (1.00kg) |2al(2=2el)/&eA (1.00kg) |L2/MESH2E (11.00kg) Sel(22el)/2eE (1.00kg) |2el(&E2el)/&&Z (1.00kg)
= (Rbe2e)/RISHE (1.00kg) |22 (Rb====)/&2HE (1.00kg) [SHXIDII(HC2l, SX)/3HH [ (Xta=2=)/& 2 (1.00kg) |#===(Xt===)/&2HE (1.00kg)
EN(S0])/&E (10.00kg) |E&(S01)/&&E (10.00kg) [ (12.00kg) A (S0])/&2Z (10.00kg) |&&H(S01)/&&& (10.00kg)
[ZHE] [BH==0H=2] Ots/ZEMN(2AR), BXM |[H2EE22] [Zgolg=2]
2HE(012+E) (0.60L) LE(SER2LH)/Z 4 (0.10L) [ (0.80kg) ZHRH/ 2RO (202 (012 E) (0.20L)
2HEH (e 2F&) (0.60L) DE(FEULF(810F))/e (WA (W0l)/&&Z (57.00kg) |(20.00kg) 2 (THei2F &) (0.80L)
H(ZA)/TESA(EE), E | & (0.20kg) tHHE (0.45kg) DE(FE2DF(EDF))/AE |[CIAIOH/ L&A (AX) (2.00kg)
9t 34 (40.00kg) =& (1.30kg) A3(242) (0.40kg) & (0.40kg) 22 (&) (5.40kg)
=& (1.00kg) CIAIOH Z&l2d (A X) (1.60kg) | bH=/&&2 (14.00kg) CHAIOH/ 2223 (A4 X) (1.60kg) |Z2/MIESHE (1.50kg)
DEILZ/=4 (0.60kg) g2/ANEEA (1.60kg) LS0IHA /&S (8.00kg) 22/MESH2E (1.60kg) Dts/ZEMA(22), XM
CIAIOH/ Z &2 (AX) (1.60kg) | E(H=EH) (4.40kg) QHIIF/ 2R HIH (242E) SZ(H==F) (4.00kg) A (0.80kg)
g2/MES2E (1.60kg) Ots/ZEMA2E2), BXIH | (20.00kg) Ots/ZEMA(2A), BIH |R(EER)/EEE (1.60kg)
SH&/=28 (13.00kg) M (0.70kg) SHMS(Otsets) (5.000) M (0.70kg) L22(:m243) (0.60kg)
Al S Z(H=EF) (2.00kg) =L R)/EEE (9.00kg) Ea(s0l)/&eZ (10.00kg) [ZXI(2EXI, HE) (2.20kg) |LHHF/&&E (1.60kg)
Ols/ZEMA(2A), BXM |HH=/&&Z (25.00kg) IHRI0HE (6.00kg) (ELR)/EZE (1.60kg) LT/ ZEMA(2E21) (1.60kg)
= 2 (0.80kg) kil 5= /& 82 (1.60kg) TmeIHES X2 (0.00kg) Bi=/& 2 (12.00kg) TG (L2T-0IY) /34t
SX(2EX, HY) (2.20kg) |FOH/ZEHMAM(2tA) (1.60kg) |IHE2IFH( = MIZ2|3t) /& & |%/&&A (4.00kg) (0.00kg)
P(XER)/22E (24.00kg) |&= (0.60L) & (3.00kg) /22 (1.60kg) TG (AISXZH0I1Y)/=
W loice/=a (4.00kg) THCHI) /B &M (2A) Moo= zZelot)/&e | 2O/ ZE M (2024) (1.60kg) |4 (0.00kg)
23(m"=243) (0.60kg) (0.90kg) & (3.00kg) TH(CHIH) /2 =R A (242H) ZYOIG /=34 (44.00kg)
of [Hi=/21&A (1.60kg) st(¢ltel, ®X)/=28 M2 (MM Ze|It) /&8 [(1.00kg) &= (0.90L)
LT/ ZEHA (2R (12.00kg) & (3.00kg) [(HEs8] OH(CHIH) /2 &R A (24 2H)
(10.00kg) Sx(224) (0.01ka) SHOIADFR (19.00kg) P (QEREE) /24 (1.10L) [ (1.10ka)
QEN/HEJA=2A(2r2A) [ggzExd] [T XZHOERLE Y] DE(F2DF(20F))/dg |st=(bel, dX)/=8
SYSH (10.00kg) 2E/ZEE (3.60L) SMM S (It=etsz) (54.00L) [& (0.60kg) (8.00kg)
&3 (0.90L) TR/ RS2, BEMA(2 [HD(2ESHZ) (54.00kg) DFEF (4.40kg) St FH (9.00kg)
THCHIH) /2 MM (22) 21) (0.20kg) [ =2 XI] DEILZ /=34 (0.60kg) Sx(224) (0.01ka)
(0.90kg) SR (HER) (1.60kg) 22X (B=2XI) (32.00kg) THEM)/Fe2A, BEMA(2 [[FROMLASS]
ZOIE)/s+8 Melel (&) /& (6.00kg) |[+=H <212 22R3|] 21) (0.30kg) ZHE(LR2ME) /24 (1.30L)
(1.00kg) HEHRJY, OtADHIE) RIN(LRFIN) /4K Y2/ HI&EH2 (6.40ka) DF(S2NF(80F))/de
[AIZ2XI2E] (1.00kg) (23.00kg) SXDI(Kctel, X))/ [& (0.60kg)
ZE(02E) (0.10L) Or2S/£&2t0lA (3.50kg) [22] Jlg (0.00kg) DE(ZOF(ELF))/222F
2HEH(THeH2H2) (0.10L) ZI1E/=4 (0.200) HWE(HAIAZ) (98.00kg) SHXDI(SH)/E0I18 (0.60kg)
TR /B2, BEMA(2 |SF/HEMA(22A), B2 (0.00kg) DEZF (1.80kg)
21) (0.50kg) 24 (2.20kg) SYXDII(Ctel, X))/ |2DFRIL2/=4F (1.00kg)
OIS/ZZEMA(ZA), BXUM |[HHSHARS Jlg (62.00kg) TH(EM) /=22, BEMAR
1 (0.60kg) =LA /24 (0.70kg) Ots/ZEMA22), BIM |21) (0.20kg)
SeH (Y, OtADHIE) H(EM)/mER, BEHMA2 M (0.60kg) 22/MESH2E (6.00kg)
(0.20kg) 24) (0.50kg) Hals=%/=4 (1.000) Ots/ZEMA22), BIIA
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[F2HAIEHE(AR)]
AEY (2QF) AEY (£2) AEY (£22) AEY (222) AEY (AQF)
AZ(R242) (0.20kg) 22/ HIZBH2 (6.00kg) S (HSS) (1.00kg) A (0.90kg)
AZ(ZA2) (0.10kg) Obs/BEMA(22A), XM M2A/FEY HEHMA(2A) (A sSH/Z A (1.00L)
AISXI/&832 (35.00kg) H (0.70kg) (0.60kg) SeH(Y, OIARHIE)
EJIZ/34 (0.50L) S(HS) (1.00kg) SeH(Y, DIARHIE) (1.30kg)
THEDH/ZE R (242) de(gy, DIADHIE) (1.00kg) AZ(ZAZ) (0.20kg)
(0.60kg) (0.40kg) AZ(ZAZ) (0.40kg) /&2 (14.00kg)
LA AEI013] AZ(2232) (0.40kg) T/ AEHH () T/ ZE M (224) (9.00kg)
AHIOIZ(ZHIAHOID) LT/ ZE M (2H2A) (7.00kg) (12.30kg) SUMR(OH=2tS) (3.00L)
(35.00kg) =2 (BE012) (36.00kg) IIS/34 (0.30L) HE(AXEE)/2 (2.00kg)
A (B OAAEOR)/E [RMMS(IH=etR) (5.000) EZF (0.900) EROI/HHEH(HR)
214/ 9F (38.00kg) EIIS/34 (0.500) IH(CHIH) / 2V R R (242) (92.00kg)
R CEENESCDERY THETH /ZEMA (22) (1.10kg) IIS/34 (0.300)
' [(2.00kg) (1.00kg) SE(A24) (0.01kg) & (0.90L)
E0E (10.00kg) [AerX] [ATtel320l] OHEDH /ZEMA(2HA)
=2 2R (4EHXl) (35.00kg) THOEN) /222, ZEMH (2 |(0.90kg)
2RI (HH=2XI) (32.00kg) [bH] 21) (0.40kg) SX(224) (0.01kg)
Ly |[2EI01222] bH (A1) (60.00kg) Se(Y, 0IARHIE) [2 X012 70l]
ADH(EAL, BXI) (1.70kg) SEH(MAE) (0.60kg) (1.70kg) LR/ ZEHH(2AH)
o |ZEI0122:2 (10.00kg) AZ(ZA2) (0.20kg) (41.00kg)
T I/ ZERH(242) (1.70kg) SUMS (FH=2tR) (5.00L) |IH(EM)/E222, ZEMH (R
SAEAA (0.50kg) Oi2H/Z a2 (HE) (4.90kg) [31) (0.20ka)
ALY/ URI2A(HE) [HH=2%1] S2/HIEBH (3.00kg)
(0.01kg) 2R (HH=2XI) (32.00kg) Obs/ZEMA(22), BT
HMETE (0.750) 71 (0.20kg)
HE(UXEE)/28 (0.20kg) HI0I121/=2 4k (14.00kg)
EDNE(SSE0E) (4.00kg) AZ(242) (0.10kg)
EOENE /DR ZE SHME (FH=2t:) (3.00L)
(5.00kg) [HH=2%1]
5H0I AJF2 (1.00kg) 22X (HH=2XI) (32.00kg)
[QIX]
Qe Xl (59.00kg)
k
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